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QUESTION 1

Scrum can easily be scaled for effective use in large projects with multiple small teams working on the project.

Which of the following facilitates coordination among scrum teams?

A. Scrum of Scrums Meeting

B. Daily Standup Meeting

C. Sprint Review Meeting

D. Sprint Planning Meeting

Correct Answer: A

There are a lot of people who say "Scrum can be used to improve the team productivity but is not scalable". In fact, it
can easily be scaled for effective use in large projects. Multiple Scrum Teams can be formed to work on the project
where the Scrum Team size exceeds ten people. The Convene Scrum of Scrums process facilitates coordination
among the Scrum Teams, enabling effective implementation in larger projects. Multiple Scrum Teams work in parallel in
large projects, making it necessary to synchronize and facilitate the flow of information and enhance communication.
The Convene Scrum of Scrums is the process ensuring this synchronization. The various Scrum Teams are
represented in this meeting and the objectives are to provide updates about progress, discuss challenges faced during

the project, and coordinate activities.

Reference: http://blog.scrumstudy.com/scalability-of-scrum-scrum-of-scrums/

QUESTION 2

You are the Scrum Master on a project to develop machine parts for automobile manufacturing. The Product Owner on
your project proposes to use Utility Function to find out the stakeholders\\' risk tolerance level. Which of the following is
NOT a risk tolerance classification?

A. Risk Averter.

B. Risk Seeker.

C. Risk Mitigator.

D. Neutral Risk Taker.

Correct Answer: C

Reference: http://blog.scrumstudy.com/how-to-identify-risk/

QUESTION 3

Program Stakeholders, the Program Product Owner, Program Scrum Master, and Chief Product Owner have gathered
together to create the Project Vision. They are trying to determine and document the difference between current
business capabilities and the final desired set of capabilities. Which one of the following should they use to arrive at a
conclusive decision?
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A. Trial Project.

B. JAD Session.

C. Gap Analysis.
D. SWOT Analysis.
Correct Answer: C

Reference: http://blog.scrumstudy.com/tools-to-create-project-vision/

QUESTION 4

A Scrum Team wants to conduct a meeting in which they plan to deliberate on ways to improve team collaboration and
effectiveness in future. This can be identified as which type of meeting?

A. Sprint Planning meeting.

B. Review Sprint meeting.

C. Retrospect Project meeting.
D. Review Project meeting.
Correct Answer: A

Reference: https://thedigitalprojectmanager.com/sprint-planning-meeting/

QUESTION 5

As a Scrum Master how will you coordinate with the Product Owner to ensure Value-Driven Delivery on Scrum
projects?

A. By ensuring that requirements are prioritized based on opportunity for investment
B. By ensuring that customers realize the value at the end of project
C. By ensuring that requirements are reprioritized after every Sprint

D. By understanding what adds value to customers and ensuing that stakeholders are closely involved throughout the
project

Correct Answer: D

In order to provide Value-driven Delivery, it is important to meet a few requirements. First, those involved in a project
should understand what adds value to customers and users, and should prioritize the high value requirements in the
Prioritized Product Backlog. Second, those involved in a project should decrease uncertainty and constantly address
risks that can potentially decrease value if they materialize; it is important to show product increments to project
stakeholders at the end of each Sprint, enabling effective management of changes. Third, those involved in a project
should create deliverables by producing potentially shippable, value-based product increments during each Sprint so
that customers start realizing value early in the project.
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Reference: http://blog.scrumstudy.com/scrum-delivers-value-driven-delivery/
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